Revision Answers

Chapter 12 Change in Group Structure

Answer 1
Jay Group

Consolidated statement of financial position as at 31 May 2012
[image: image1.emf]Non-current assets $m

Tangible assets (300 + 40 + 14 (W2) + 0.3 (W4) - 6 (W6) + 4.9 (W6)) 353.2       

Goodwill (10 (W3) - 6 (W7)) 4.0           

Investment in associate (W11) 13.0         

Other investment (10 - 0.5 (W5)) 9.5           

379.7       

Current assets (100 + 20 - 6 (W6)) 114.0       

Total assets 493.7       

Equity and liabilities

Share capital 100.0       

Share premium 50.0         

Revaluation surplus 15.0         

Retained earnings (W9) 131.9       

296.9       

Non-controlling interest (W10) 12.8         

309.7       

Non-current liabilities (60 + 4) 64.0         

Current liabilities (110 + 10) 120.0       

493.7       


W1 Group structure


[image: image2]
	
	Gee
	Hem

(Associate)

	Group interest
	80%
	25%

	NCI
	20%
	-

	
	100%
	100%


[image: image3.emf]W2 Fair value of net assets of subsidiaries at acquisition date

Gee Hem

$m $m

Share capital 10             6               

Share premium 20             14             

Pre-acq. retained earnings (bal. fig.) 6               6               

Fair value adjustment 14             6               

50             32             


W3 Goodwill

	
	Gee
	

	
	$m
	

	Consideration
	30
	

	FV of previously held equity interest
(30m x 30%/50%)
	18
	

	FV of NCI
	12
	

	
	60
	

	Less: FV of net assets at acq. date
	(50)
	

	Total goodwill at acquisition
	10
	


W4 Unrealised profit in sale of machine
= $19m – $13m = $6m

Excessive depreciation

= $6m × 10% × 6/12 = $0.3m

W5 Wrong treatment of portfolio investments from Hem

	
	Dr. ($m)
	Cr. ($m)

	Other investments
	10
	

	Investment in Hem
	
	10


Unrealised profit in sale of portfolio investment

= $2m × 25% = 0.5m

	In consolidation
	Dr. ($m)
	Cr. ($m)

	Retained earnings
	0.5
	

	Other investment
	
	0.5


[image: image4.emf]W6 Machine and installment

Impairment of receivables $m

Receivables amount 8               

Less: Deposit received (2)              

Impairment loss 6               

In Jay's book:

Dr. ($m) Cr. ($m)

Profit or loss 6               

Receivables 6              

Machinery recover

$m

Machinery (NBV) 5               

Less: Depreciation (5m x 10% x 3/12) 0.1            

4.9            

Dr. ($m) Cr. ($m)

Machinery  4.9            

Profit or loss 4.9           


W7 Impairment test of Gee at 31 May 2012

	
	Goodwill
	Net assts
	Total

	
	$m
	$m
	$m

	Carrying value
	10
	46
	56

	Fair value adjustment (Gee land)
	
	14
	14

	
	10
	60
	70

	Recoverable amount
	
	
	64

	Impairment
	
	
	6

	In Gee’s book
	Dr. ($m)
	Cr. ($m)

	Retained earnings
	6
	

	Goodwill
	
	6


W8 Fair value gain in Gee
	
	$m

	Fair value at 31 May 2012

	53

	Less: FV at 1 June 2011 (50%)
	(30)

	Less: FV at 1 Jun 2010 (30 x 30%/50%)
	(18)

	
	4


The gain of $4m should be reversed because the investment in Gee had already in fair value.

[image: image5.emf]W9 Retained earnings

Jay Gee Hem

$m $m $m

Per question 139.0        16.0          10.0         

Less: Pre-acquisition retained earnings (6.0)           (6.0)          

10.0          4.0           

Unrealised profit in machine (5.7)          

Impairment loss of receivables (W6) (6.0)          

Reverse of machinery sold (W6) 4.9           

Impairment loss of Gee (W7) (6.0)          

Fair value gain of Gee reverse (W8) (4.0)           4.0            4.0           

Unrealised profit in investment (W5) (0.5)          

Share of post-acquisition retained earnings

- Gee (4 x 80%) 3.2           

- Hem (4 x 25%) 1.0           

131.9       


W10 NCI

	
	
	$m

	20% of $60m
	
	12.0

	Share of post-acq. profit (4 x 20%)
	
	0.8

	
	
	12.8


W11 Investment in associate

	
	
	$m

	Cost of investment
	
	12.0

	Share of post acq. profit (4 x 20%)
	
	1.0

	
	
	13.0

	
	
	

	Recoverable amount (25% x 68m)
	
	17


No impairment loss for associate.

Answer 2
(a)

[image: image6.emf]$m $m

Non-current assets

Property, plant and equipment [265 + 230 + 161 + 40 (W2) + 12 (W3)] 708.0       

Goodwill (W4) 25.0         

Investment in associate (W5) 22.5         

Investment in equity instrument [51 + 6 + 5 - 17.4 (W6)] 44.6         

800.1       

Current assets

Inventories [135 + 55 + 73 - 1.8 (W7)] 261.2       

Trade receivables (91 + 45 + 32) 168.0       

Director's loan (W8) 1.0           

Cash and cash equivalents [102 + 100 + 8 - 1 (W8)] 209.0       

639.2       

1,439.3    

Equity and liabilities

Equity

Share capital 520.0       

Retained earnings (W9) 282.3       

Other components of equity (W10) (0.4)          

801.9       

Non-controlling interest (W11) 148.8       

950.7       

Non-current liabilities

Long-term borrowings (120 + 15 + 5) 140.0       

Deferred tax [25 + 9 + 3 + 2.6 (W3)] 39.6         

179.6       

Current liabilities

Trade and other payables [115 + 30 + 60 + 12 (W4)] 217.0       

Current tax payable (60 + 8 + 24) 92.0         

309.0       

Total equity and liabilities 1,439.3    

Bravado Group

Consolidated statement of financial position as at 31 May 2009


W1 Group structure


[image: image7]
	
	Message
	Mixted
	Clarity

(Associate)

	Group interest
	80%
	70%
	25%

	NCI
	20%
	30%
	-

	
	100%
	100%
	


[image: image8.emf]W2 Fair value of net assets of subsidiaries at acquidition date

Message Mixted

$m $m

Share capital 220             100            

Pre-acq. retained earnings 136             55              

Other components of equity 4                 7                

Fair value adjustment 40               14              

400             176             (=170 + 6)

Deferred tax liability (W2) -             (3)              

400             173            


[image: image9.emf]W3 Deferred tax liability of fair value adjustment - Mixted

Deferred tax liability = (176 - 166) x 30% = $3m

At acq. Movement Year end

1.6.08 (1/7) 31.5.09

$m $m $m

PPE 14.0            (2.0)            12.0         

Deferred tax liability (3.0)            0.4              (2.6)          

11.0            (1.6)            9.4           

At acquisition date

Dr. PPE 14.0           

Cr. Deferred tax liability 3.0           

Cr. Goodwill 11.0         

At year end (31.5.09)

Dr. Deferred tax liability 0.4             

Dr. Retained earnings - Mixted 1.6             

Dr. Accumulated depreciation 2.0           


[image: image10.emf]W4 Goowill

Message Mixted

$m $m

Consideration

- Cash 300.0        118.0       

- Contingent -           12.0         

300.0        130.0       

Fair value of previously held equity interest -           15.0         

Fair value of NCI 86.0          53.0         

386.0        198.0       

Less: Fair value of net assets at acq. (W2) 400.0        173.0       

(Gain on bargain purchase)/Goodwill (14.0)         25.0         

In Bravado book - change in fair value (already accounted for)

Dr. Investment in Mixted 5.0           

Cr. OCI 5.0           

In Bravado book - deferred consideration (not yet accounted for)

Dr. Investment in Mixted 12.0         

Cr. Deferred consideration - current liab. 12.0         


[image: image11.emf]W5 Investment in associate $m

FV at date of significant influence achieved

1.6.08 (9 + 11) 20.0         

Share of post-acq. profits (10m x 25%) 2.5           

22.5         

W6 Foreign currency investment in equity instrument $m

Value at initial recognition (11m dinars x 4.5) 49.5         

Value at 31.5.08 (10m dinars x 5.1) 51.0         

Gain 1.5           

Dr. Investment in equity instrument 1.5           

Cr. OCI 1.5           

Value at 31.5.08 51.0         

Value at 31.5.09 (7 x 4.8) 33.6         

Impairment 17.4         

Dr. OCT 17.4         

Cr. Investment in equity instrument 17.4


[image: image12.emf]W7 Inventories

Cost in financial statements $m $m

1st stage (10,000 x $1,000) 10.0           

2nd stage (20,000 x $1,500) 30.0         

NRV

1st stage [10,000 x (950 - 10)] (9.4)           

2nd stage [20,000 x (1,450 - 10)] (28.8)        

Impairment 0.6              1.2            1.8           

W8 Director's loan $m $m

Dr. Loan receivable 1.0             

Cr. Cash 1.0           


[image: image13.emf]W9 Retained earnings

Bravado Message Mixted

$m $m $m

Per question 240.0          150.0          80.0         

Less: Pre-acq. retained earnings (W2) (136.0)        (55.0)        

14.0            25.0         

Fair value adjustment (W3) -             (1.6)          

Gain on bargain purchase (W4) 14.0            14.0            23.4         

Impairment on inventories (W7) (1.8)           

Share of post-acq. retained earnings

- Message (80% x 14) 11.2           

- Mixted (70% x 23.4) 16.4           

- Clarity (25% x 10) 2.5             

282.3         

W10 Other components of equity

Bravado Message Mixted

$m $m $m

Per question 17.0            4.0              7.0           

Less: Pre-acq. (W2) (4.0)            (7.0)          

Impairment in foregin investment (W6) (17.4)          -             -          

Share of post acq. OCE

- Message -            

- Mixted -            

(0.4)           


[image: image14.emf]W11 NCI

Message Mixted

$m $m

At acquisition date (W4) 86.0            53.0         

Post-acq. share of reserves

- Message [14 (W9) x 20%] 2.8             

- Mixted [23.4 (W9) x 30%] 7.0           

88.8            60.0          148.8       


(b)

[image: image15.emf]Message Mixted

$m $m

Consideration

- Cash 300.0        118.0       

- Contingent -           12.0         

300.0        130.0       

Fair value of previously held equity interest -           15.0         

Net assets value of NCI

(20% x 400) / (30% x 173) (W2) 80.0          51.9         

380.0        196.9       

Less: Fair value of net assets at acq. (W2) (400.0)       (173.0)      

(Gain on bargain purchase) / goodwill (20.0)         23.9         


In the case of Message, if non-controlling interest is valued on a proportionate basis, the gain on the bargain purchase is greater. This is logical if the fair value of the non-controlling interest is seen as part of the cost of the acquisition, and the fair value of this NCI is greater than the NCI’s proportionate share of the subsidiary’s net assets.

In the case of Mixted, the goodwill is less because, as for Message, Bravado had paid less. The NCI is, as for Message, seen as part of the cost of the acquisition.
[image: image16.emf]
Answer 3
(a)

Beth Group

Consolidated statement of financial position as at 30 November 2007
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Answer 4
(a)

Angel Group

Consolidated statement of profit or loss and other comprehensive income for the year ended 31 December 2008

[image: image24.emf]
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Answer 5
(a)
Profit/loss on sale of shares in Plank

Where there has been a disposal and control has been lost, IFRS 3 Business Combinations requires that the group should derecognize all traces of the subsidiary from its accounts (the net assets, the goodwill, and the non-controlling interest) and the reintroduce the remaining interest at its fair value. Any gain or loss arising is taken to income as an exceptional item.

[image: image27.emf]$m $m

Proceeds 180.0                 

FV of residual holding (given) 366.0                 

546.0                 

Carrying value of subsidiary at disposal date:

Net assets value at disposal date 847.6            

Unimpaired goodwill (W4) 50.0              

897.6            

Less: NCI at disposal date (W9) (349.0)           

548.6                 

Loss to the group (2.6)                    


(b)
Lateral Group

Consolidated statement of financial position as at 31 October 2005

[image: image28.emf]$m

Assets

Non-current assets

Property, plant and equipment (W5) 1,098.0       

Goodwill (W4) 44.0            

Investment in associate (a) 366.0          

Financial assets (W7) 32.6            

1,540.6       

Current assets

Inventories (200 + 185) 385.0          

Trade receivables (170 + 80) 250.0          

Cash and cash equivalents (40 + 30) 70.0            

705.0          

Total assets 2,245.6       

Equity and liabilities

Equity

Share capital 400.0          

Retained earnings (W8) 956.2          

1,356.2       

Non controlling interest (W9) 109.4          

1,465.6       

Non-current liabilities (250 + 60) 310.0          

Current liabilities (360 + 110) 470.0          

Total equity and liabilities 2,245.6       


[image: image29.emf]W1 Group structure

Lateral

80% 60% to 1.11.03

1.11.03 40% 31.10.05

Think Plank

Think Plank

At 31.10.05

(Associate)

Group 80% 40%

NCI 20% -             

100%


[image: image30.emf]W2 Net assets

Think Plank

At acq. date At year end At acq. date At year end

$m $m $m $m

Share capital 250.0            250.0            500.0            500.0           

Reserves 150.0            280.0            210.0            290.0           

Fair value adjustment (bal. fig.) -                -                90.0              90.0             

Depreciation -                -                -                (32.4)           

400.0            530.0            800.0            847.6           

Less: Unrealised profit in sale of plant (W5) (5.0)              

Less: Depreciation adjustment (W5) (2.0)              

400.0            523.0            800.0            847.6           


[image: image31.emf]W3 Depreciation adjustment of fair value adjustment

$m

Fair value adjustment (W2) 90.0             

Depreciation for 2004 (18.0)           

72.0             

Depreciation for 2005 (14.4)           

57.6             

Total depreciation adjustments = 18m + 14.4m = 32.4m


Dr. Retained earnings – Plank
$32.4m
Cr. PPE

$32.4m

[image: image32.emf]W4 Goodwill

Think Plank

$m $m

Cost of inestment 380.0            340.0           

Add: Correction of proceeds 180.0           

520.0           

Fair value of NCI at acq. date 90.0              330.0           

470.0            850.0           

Less: Fair value of sub. at acq. date (W2) (400.0)          (800.0)         

Full goodwill at acquisition 70.0              50.0             

Less: Goodwill impaired (W6) (26.0)            -               

Unimpaired goodwill 44.0              50.0             


The proceeds are added back because they were deducted in error and so the $340m does not represent the original fair value of the consideration.
W5 Property, plant and equipment

The plant and equipment will be shown as held for sale in the individual financial statements of Think but in the group accounts this will not be the case as it is an inter-company sale. The items disclosed as held for sale are incorrectly valued at the fair value less costs to sell.

IFRS 5 says that held for sale items should be valued at the lower of their carrying value and fair value less costs to sell, i.e. $10m, and not $15m so there is an unrealized profit of $5m and the company has valued the item incorrectly in any event. The plant should be included with the remainder of the group plant and equipment and depreciated (20% × $10m = $2m).

[image: image33.emf]Think Lateral Total

$m $m $m

PPE at 31.10.05 390.0            700.0            1,090.0        

Held for sale asset (15 - 5 profit) 10.0              10.0             

Depreciation on held for sale asset @ 20% (2.0)               (2.0)              

398.0            700.0            1,098.0        


W6 Impairment – Think

[image: image34.emf]$m

Net assets value at year end (W2) 523.0           

Goodwill 70.0             

593.0           

Recoverable amount (567.0)         

Impairment loss 26.0             

80% to retained earnings 20.8             

20% to NCI 5.2               

26.0             


[image: image35.emf]$m $m

Dr. Retained earnings 20.8             

Dr. NCI 5.2               

Cr. Goodwill - Think 26.0             


W7 Financial asset measured at amortised cost
Effectively the instrument had not been accounted for under IFRS 9. Only the cash received has been accounted for. Therefore, retained earnings should be credited with $2.6m ($6.12m – $3.53m) and the debt instrument shown at $32.6m.
[image: image36.emf]Effective Interest

Opening bal. interest @ 10%received @ 4.7% Closing bal.

$m $m $m $m

1 Nov. 2003 30.00             3.00                    (1.76)                    31.24            

1 Nov. 2004 31.24             3.12                    (1.76)                    32.60            

6.12                    (3.53)                   

$m $m

Dr. Financial assets (6.12 - 3.53) 2.6                     

Cr. Retained earnings 2.6                      


[image: image37.emf]W8 Retained earnings

Lateral Think Plank

$m $m $m

Per question 850.0          280.0          290.0         

Less: Pre-acq. R.E. (150.0)         (210.0)        

130.0          80.0           

Depn. adj. (W3) (32.4)          

Unrealised profit in sale of plant(W5) (5.0)            

Depn. adj. (W5) (2.0)            

Add: Financial assets adj. (W7) 2.6              123.0          47.6           

Loss on disposal of sub. (a) (2.6)            

Goodwill impairment (W6) (20.8)          

Share of post-acq. R.E.

- Think (123 x 80%) 98.4           

- Plank (47.6 x 60%) 28.6           

956.2         


[image: image38.emf]W9 NCI

Think Plank

$m $m

NCI at acq. date (W4) 90.0             330.0          

Share of post-acq. R.E.

(123 x 20%) / (47.6 x 40%) 24.6             19.0            

Less: Goodwill imapirment (W6) (5.2)             

109.4           349.0          

To SOFP To disposal


[image: image39.emf]
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Answer 6
(a)
[image: image41.emf]Gain on disposal of equity interest in Sitin $m

Fair value of consideration received 23.00       

Fair value of equity interest retained 13.00       

36.00       

Less: Share of net assets and goodwill at disposal date

Net assets (36m x 100%) (36.00)      

Goodwill (7.00)        

Loss on disposal (7.00)        


(b)

[image: image42.emf]$m

Non-current asseets

Property, plant and equipment

[257 + 311 + 238 + 5 (W2) + 3.47 (W4) - 6 (W13) + 4 (W15) - 28 (W16)] 784.47      

Goodwill (W6) 38.00        

Other intangible assets [10 (W2) - 3 (W3)] 7.00          

Investment property (6 + 2) (W13) 8.00          

Investment in associate (W12) 13.00        

850.47      

Current assets (475 + 304 + 141) 920.00      

1,770.47   

Equity and liabilities

Equity

Share capital 430.00      

Retained earnings (W7) 400.67      

Other components of equity (W8) 58.98        

889.65      

Non-controll interests (W9) 140.82      

1,030.47   

Non-current liabilities (172 + 124 + 38) 334.00      

Current liabilities

Trade and other payables (178 + 71 + 105) 354.00     

Provisions [10 + 6 + 4 + 25 (W5) + 7 (W14)] 52.00       

406.00      

Total eqyity and liabilities 1,770.47   

Grange Group

Consolidated statement of financial position as at 30 November 2009


[image: image43.emf]W1 Group structure

Grange

Sitin 100% 30.6.08

1.6.08 60% 100% 30.6.08 -60% 30.11.09

30.11.09 + 20% -25% 30.11.09 40%

75%

Park Fence

Park Fence Sitin

(Assoc.)

Group 80% 75% 40%

NCI 20% 25% -       

100% 100%


[image: image44.emf]W2 Net assets of subsidiaries at acq. date

Park Fence Sitin

$m $m $m

Share capital 230.00      150.00     

Retained earnings 115.00      73.00       

Other components of equity 10.00        9.00         

Contintent liability (30.00)      

Fair value adj. (bal. fig.) 5.00          4.00         

360.00      206.00      32.00       

(202 + 4)

Add: Franchise right 10.00       

370.00     


[image: image45.emf]W3 Amortisation of franchise right

In Park's book $m $m

Dr. Retained earnings (10m/5 years x 1.5 years) 3.00         

Cr. Franchise right 3.00         


[image: image46.emf]W4 PPE fair value adj. and depn. adj.

In Fence's book

Fair value adjustment $m $m

Dr. PPE 4.00         

Cr. Cost of control 4.00         

Depreciation adjustment

Dr. Retained earnings (4m/10 years x 1 

4/12

) 0.53         

Cr. PPE 0.53         


[image: image47.emf]W5 Contingent liability

In Fence's book $m $m

Dr. Cost of control 30.00       

Cr. Provision for liabilities 25.00       

Cr. Retained earnings 5.00         


[image: image48.emf]W6 Goowill

Oark Fence Sitin

$m $m $m

Consideration 250.00       214.00       39.00        

FV of NCI at acq. date 150.00       -             -            

400.00       214.00       39.00        

Less: FV of net assets at acq. date (W2) (370.00)      (206.00)      (32.00)       

Goodwill 30.00         8.00           7.00          

Derecognised on disposal [part (a)] -             -             (7.00)         

30.00         8.00           -             38.00        


[image: image49.emf]W7 Retained earnings

Grange Park Fence

$m $m $m

Per question 410.00       170.00       65.00        

Less: Pre-acq. retained earnings (W2) (115.00)      (73.00)       

Loss on disposal Part (a) (7.00)         

Amortisation of franchise right (W3) (3.00)         

Depreciation adjustment (W4) (0.53)         

Contingent liability reduction (W5) 5.00          

52.00         (3.53)         

Gain on investment in land (W13) 2.00          

Provision for environmental pollution (W14) (7.00)         

Impairment of Grange (W16) (28.00)       

Share of post acq. retained earnings

- Park (52 x 60%) 31.20        

- Fence (-3.53 x 100%) (3.53)         

- Sitin (3 x 100%) 3.00          

400.67      


[image: image50.emf]W8 Other components of equity (OCE)

Grange Park Fence Sitin

$m $m $m $m

Per question 22.00         14.00         17.00        

Less: Pre-acq. (10.00)        (9.00)         

4.00           8.00           1.00          

Revaluation of foreign property (W15) 4.00          

Change in NCI

- Park (W10) (3.80)         

- Fence (W11) 25.38        

Share of post acq. OCE

- Park (4 x 60%) 2.40          

- Fence (8 x 100%) 8.00          

- Sitin (1 x 100%) 1.00          

58.98        


[image: image51.emf]W9 NCI

Park Fence

$m $m

NCI at acq. date (W6) 150.00       -            

Share of post-acq.

- Retained earnings (52 x 40%) 20.80        

- OCE (4 x 40%) 1.60          

NCI at 30.11.09 before changes 172.40      

Decrease in NCI (20%/40% x 172.4) (86.20)       

Increase in NCI (W11) 54.62         Total

86.20         54.62         140.82      


[image: image52.emf]W10 Further acquisition of Park - Decrease in NCI

$m

Consideration 90.00        

Decrease in NCI (20%/40% x 172.4)(W9) (86.20)       

Decrease in parent's equity - OCE 3.80          

Dr. NCI 83.20        

Dr. OCE 3.80          

Cr. Bank 90.00        


[image: image53.emf]W11 Disposal of Fence (Sub. to Sub.) - Increase in NCI

$m $m

Consideration 80.00        

Net assets value at disposal date

- Net assets per question 232.00      

- Fair value adj. - PPE (W4) 3.47          

- Contingent liab. (W5) (25.00)       

Goodwill (W6) 8.00          

218.47      

x 25%

Increase in NCI at disposal date 54.62        

Increase in equity - OCE 25.38        


[image: image54.emf]W12 Investment in associate -  Sitin

$m

Fair value at date of loss of control 13.00        

Share of post-acq. profits -            

13.00        

Carrying value at SFP of Grange 16.00        

Impairment loss 3.00          


[image: image55.emf]W13 Investment in land - Grange

IAS 40 states that land held for indeterminate use is investment property

$m $m

Dr. Investment property 6.00         

Cr. PPE 6.00         

As Grange's policy is to maximize ROCE, it should use the fair value model, and

the gain of $2m will be taken to profit or loss.

Dr. Investment property 2.00         

Cr. Profit or loss 2.00         

The fall in value of $7m will be disclosed as an non-adjusting events after the

reporting period.


[image: image56.emf]W14 Provision for environmental claim

$m $m

Dr. Profit or loss (6m + 1m) 7.00         

Cr. Provision for environmental claim 7.00         

No provision for the change in manufacturing process because it has not enough

details to create constructive obligation. Grange can, for example, buy a new machine,

shutting down the production or changing the product, i.e. no obligating event incurred.


[image: image57.emf]W15 Foreign property

$m

Value at 30.11.08 (8m/2) 4.00         

Value at 30.11.09 (12m/1.5) 8.00         

Gain 4.00         

Dr. PPE 4.00         

Cr. OCE 4.00         


[image: image58.emf]W16 Restructuring - Grange

No provision for restructuring should be recognised because constructive obligation

has not yet been incurred. However, impairment should have arisen.

$m

Net assets per question 862.00     

Revaluation of investment property (W13) 2.00         

Provision for environmental claim (W14) (7.00)        

Revaluation of foregin property (W15) 4.00         

Impairment of Sitin (W12) (3.00)        

858.00     

Value in use if restructured (830.00)    

Impairment loss 28.00       

$m $m

Dr. PPE 28.00       

Cr. Retained earnings 28.00       


(c)
Ethical behavior and rules
· The compliance-based approach to ethics requires companies and individuals to act with the letter of the law, or in conformity to the letter of a professional code of conduct. In essence, it says: follow the rules and that is enough.

· Certainly rules are important part of ethics. A professional code of conduct such as the ACCA’s is an effective and efficient way to communicate expectations as to what behavior is expected and what is unacceptable.

The advantage of rules-based approaches can be summarized as follows:

(1)
They can be enforced through penalties for non-compliance, which makes compliance more likely.

(2)
The rules are usually clear and unambiguous, and companies or individuals can generally provide evidence of compliance.

(3)
They are usually specific, where a requirement for ‘integrity’ is too general.
There are disadvantages to rules-based approaches, the most important of which are:

(1)
Rigidity. The rules-based approach allows no leeway or deviation, irrespective of how illogical the situation is.

(2)
Limited scope. Enforcement can be difficult in situations not covered explicitly by the rules. Accountants who view rules as the sole determinant of ethical behavior will be unable to cope in situations where there is no rule.

(3)
A director who lacks integrity may try to find loop holes.

(4)
A rule may be unfair or inappropriate – even unethical. Ethical principles and values may be used to judge the appropriateness of a rule, and whether it should be changed.
(5)
Too much emphasis on rules, and on sanctions for non-compliance, means that ethics are perceived as punitive. A more positive view of ethics is required if public trust is to be maintained.

In deciding whether to disclose Brook’s liquidity problems to Field, the finance director of Grange should consider more than simple compliance with rules. He needs to act ethically. However, even without confining himself to rules, he will be faced with a number of conflicting demands and questions to which they are no easy answers.
(1)
Should the finance director betray his friend’s confidence? Does he have a duty to disclose, or is this ‘inside information’ which should not be disclosed?
(2)
What about the finance director’s duty to other stakeholders, including the shareholders of Grange? Grange may not be paid if the poor liquidity position of Brook is disclosed, and the shareholders stand to lose.

(3)
If he discloses the information, the finance director could be perceived as being responsible for Brook going into liquidation.

(4)
Should the information passed to him by his friend be seen as an accurate assessment of Brook’s creditworthiness, or is it a subjective opinion?
Finally, should Field expect any credit information to be accurate or simply be a note of Brook’s credit history? Thus it can be seen that the ethical and moral dilemma’s facing the director of Grange are not simply a matter of following rules but are a complex mix of issues concerning trust, duty of care, insider information, confidentiality and morality.
Answer 7
(a)

Ashanti Group
Consolidated statement of profit or loss and other comprehensive income for the year ended 30 April 2010
[image: image59.emf]Sub. Associate

6 months 6 months

Ashanti Bochem Ceram Ceram Adj. Total

$m $m $m $m $m $m

Revenue 810.00      235.00      71.00        71.00        (10.00)      

(5.00)        

W9 (5.00)         1,096.00   

Cost of sales (686.00)     (137.00)     (42.00)       (42.00)       10.00       

Unrealised profit W7 (1.00)         5.00          (851.00)     

Gross profit 118.00      98.00        29.00        29.00        245.00      

Other income 31.00        17.00        6.00          6.00         

Profit on disposal of Ceram W6 3.80          57.80        

Distribution costs (30.00)       (21.00)       (13.00)       (13.00)       (64.00)       

Administrative costs (55.00)       (29.00)       (6.00)         (6.00)        

Depn. adj. W3 (2.00)        

Impairment loss of goodwill W4 (2.20)        

Revaluation loss W10 (1.60)        

Holiday accruals W11 (0.21)         (96.01)       

Finance income W5 1.68          1.68          

Finance costs (8.00)         (6.00)         (4.00)         (4.00)        

Impairment of bond W8 (11.698)    

Impairment of receivables W9 (3.00)         (32.70)       

Profit before tax 41.17        58.60        12.00        12.00        111.77      

Income tax expenses (21.00)       (23.00)       (5.00)         (5.00)         (49.00)       

7.00         

Share of profit of associate

(7 x 30%) 2.10          2.10          

Profit for the year 20.17        37.70        7.00          64.87        

Other comprehsnvice income for the year,

net of tax - items that will not be reclassified

to profit or loss

Investment in equity instruments 20.00        9.00          3.00          32.00        

Gain on PPE revaluation 12.00        6.00          -

PPE revaluation adj. W10 1.60          19.60        

Actuarial losses on defined benefit plan (14.00)       (14.00)       

Share of other comprehensive income of

associate (6 x 6/12 x 30%) 0.90          0.90          

Other comprehsnvice income for the year, net of tax 19.60        15.90        3.00          38.50        

Total comprehensive income for the year 39.77        53.60        10.00        103.37      

Profit attributable to:

Owners of the parent (bal. fig.) 50.48        

Non-controlling interest (37.7 x 30% + 7 x 44%) 14.39        

64.87        

Total comprehensive income to:

Owners of the parent (bal. fig.) 82.89        

Non-controlling interest (53.6 x 30% + 10 x 44%) 20.48        

103.37      


[image: image60.emf]W1 Group structure
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[image: image61.emf]W2 Net assets value of subsidiary at acq. date

Biochem Ceram

$m $m

Share capital 55.0         

Pre-acq. R.E. 85.0         

OCE 10.0         

Fair value adj. (bal. fig.) 10.0         

160.0        115.0       


[image: image62.emf]W3 Fair value adj. - depreciation adj.

$m

Plant - increase in fair value 10.0         

Less: Depreciation (10m/5 years)

- For 2009 (2.0)          

- For 2010 (2.0)          

6.0           


[image: image63.emf]W4 Goodwill

Bochem Cearm

$m $m

Consideration 150.0        95.2          (136m x 70%)

FV of NCI at acq. date 54.0          26.0         

204.0        121.2       

Less: FV of net assets W2 (160.0)       (115.0)      

Total goodwill 44.0          6.2           

Impairment loss to 30.4.09 (6.6)           (44 x 15%)

37.4         

Impairment loss to 30.4.10 (2.2)           (44 x 5%)

35.2          6.2           


W5 Sale of 10% Bochem

As control is not lost, there is no effect on the consolidated statement of profit or loss and other comprehensive income. The sale is, in effect, a transfer between owners (Ashanti and the NCI). It is accounted for as an equity transaction directly in equity, and only reflected in the statement of changes in equity.

[image: image64.emf]$m

Net assets at 30.4.10 210.0       

FV adjustments (W3) 6.0           

216.0       

Add: Goodwill (W4) 35.2         

251.2       

Dr. Cash $34m

Cr. NCI (251.2m x 10%) $25.12m

Cr. Increase in parent's equity $8.88m


(Note: Because there is no effect on the consolidated statement of profit or loss and other comprehensive income, it was not necessary to do this working to obtain full marks. Nevertheless, it is good practice, so it has been included it for completeness.)

[image: image65.emf]W6 Profit on sale of Ceram

$m $m

Consideration received 90.0         

FV of equity interest retained 45.0         

135.0       

FV of Ceram at disposal date

Net assets 160.0          

Goodwill (W4) 6.2              

166.2          

Less: NCI (per question) (35.0)          

(131.2)      

3.8           


[image: image66.emf]W7 Intragroup trading - unrealised profit in inventory

$m $m

Dr. Cost of sales (10m x 50% x 20%) 1.0              

Cr. Inventories (SFP) 1.0           


[image: image67.emf]W8 Impairment of bond

Opening Effective Interest

Int. (4%) Sub-totalpaid (5%) Closing

$m $m $m $m $m

31.10.09 21.05        0.84          21.89        (1.00)         20.89       

30.4.10 20.89        0.84          21.72        (1.00)         20.72       

$m

Closing balance at 30.4.10 20.72       

Impaired value

(2.34/1.08 + 8/1.08^2) (9.03)        

Impairment loss 11.69       

$m $m

Dr. Profit or loss 11.69       

Cr. Bond 11.69       


W9 Allowances for receivables

The revenue of $5m should not have been recorded, as it is not probable that future economic benefits from the sale will flow to Ashanti. The revenue should only be recorded when the customer pays for the goods.

It is not appropriate to include the $5m in the allowance for doubtful debt of $8m, and so the allowance must be limited to $3m.

[image: image68.emf]$m $m

Dr. Revenue 5.0           

Cr. Receivables 5.0           

Dr. Finance costs (impairment of receivable) 3.0           

Cr. Allowance for doubtful debts 3.0           


[image: image69.emf]W10 Property, plant and equipment

SOFP Revaluation

surplus

$m $m

Cost at 1.5.08 12.0         

Less: Depn. (12m/10 years) (1.2)          

Carrying value at 30.4.09 10.8         

Increase in revaluation (bal. fig.) 2.2            2.2                To: OCI

Revalued amount at 30.4.09 13.0         

Less: Depn. (13m/9) (1.4)          

11.6         

Transfer to retained earnings

(1.4 - 1.2) (0.2)              

2.0               

Revaluation loss (bal. fig.) (3.6)           (2.0)              

Revalued amount at 30.4.10 8.0            -              

Original entries:

$m $m

Dr. OCI 3.6           

Cr. PPE 3.6               

Correct entries:

Dr. OCI 2.0           

Dr. Profit or loss (bal. fig.) 1.6           

Cr. PPE 3.6               

To correct:

Dr. Profit or loss 1.6           

Cr. OCI 1.6               


W11 Holiday pay accrual
IAS 19 requires that an accrual be made for holiday entitlement carried forward to next year.

No. of days c/f: 900 × 3 × 95% = 2,565 days

No. of working days: 900 × 255 = 229,500

Accrual = 2,565/229,500 × $19m = $0.21m

[image: image70.emf]$m $m

Dr. Administrative expenses 0.21         

Cr. Accurals 0.21             


(b)
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(c)
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